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11 What is the minimum size of Copper earth continuity
conductor used in single phase domestic wiring as per
BIS? | BIS TOR f&7Tet U1 SAfEed arafomed BiR 31ef
Piegct beaean fbAH 3ThR fabdl 31me?

A 3 Sg.mm

B 3.5 Sg.mm

C 2.5 Sg.mm

D 1.5 Sq.mm

Answer: D

112 Which method is used to reduce earth resistance

value in a existing earth? | 31ftdcara srqaiea sefaefta,
312fd UfdR o BH! BRUGTHTST BIUTdT Ugd dTiRedt STTd?
A Increasing the length of electrode | saiagIsd! @it
qrequt

B Keeping wet condition in earth pits always | 312fzT
WISATd AgH! 3iet ferdt Saut

C Adding more sand and charcoal in earth pits | 372f
[ssATd 3ifeids d1es 31fT Blesar 130T

D Increasing the diameter of earth electrode | 313
SIS AT d1edut

Answer: B

13 Why A.C is required to measure the earth resistance
by using earth resistance tester? | 3r2f T~ TR AU
372} gfdpR AISTUATATST A.C BT T 3T8?

A Regulate the current | B3C 3geAC &I

B Increase the voltage drop | @leesT 31U dT&d

C Decrease the voltage drop | @lcesT 319 BHT BT

D Avoid electrolytic emf interference | SAdgIcsfcd
$UATK gday Tl

Answer: D

14 What is the formula to find voltage drop of a A.C
single phase wiring circuit? | A.C f&TeT %51 arafT afdbed
@ISt 31U YT A B 3MTe?

A Voltage drop = IR volt | @231 31U = IR Elee

B Voltage drop = I2R volt | @l 31U = I2R @lee

C Voltage drop = I/R volt | @eesT 31T = I/R @lee

D Voltage drop=IR/2 volt | &leesT 31U = IR/2 @Elee
Answer: A

115 What is the maximum permissible load for a power
sub circuit as per LE rules? | I.E FAIHITAR dlaR I&
TfheaTet AT 3T As fasdlt 3me?

A 800 Watt

B 1500 Watt

C 2000 Watt

D 3000 Watt

Answer: D

16 Which location the service connection supply leads
to be connected at consumer main board? | Sg[AR A
a1 afedq FAGRMA Brotc f3awToft siisar sirar?

A IC cut out | IC &< T3¢

B Main switch | 8 fega

C Energy meter | B51f HieR

D Distribution board | f&RgegeM &g

Answer: C

17 What is the type of test in domestic wiring

installation? | SRV ATARIT=AT TATIA et ATEIvTt HIoTRT
UBR 31Me?

CRCUT AMER

A Polarity test | Ydiaar =it
B Continuity (or) open circuit test | ITac (fdar) 30U
Tfpe aroft

C Insulation resistance test between conductors | 3deR

SRR S geRRM AfaR Tt
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D Insulation resistance test between conductors and
earth | SaR 31107 312 SRR S~geirM UfaRy Tt

Answer: A

18 What is the permissible leakage current in domestic
wiring installation? | ERIc ARARIT STeTARMTED
RN 75t Bie B 31Te?

A 1/5 x Full load current | 1/5 x qof YR 1€

B 1/50 x Full load current | 1/50 x Yof 4R YaTe

C 1/500 x Full load current | 1/500 x qof &1 &<

D 1/5000 x Full load current | 1/5000 x Yot &iig B

Answer: D

19 Which formula is used to calculate the diversity

factor? | f3e&fict thaex RISTUTATS BIVTA T ATRA STA?

Maximum Load

installed Load
installed Load

A Diversity Factor =

B Diversity Factor= —————
Maximum Load

. . minimum actual Load
C Diversity Factor =

installed Load
installed Load

D Diversity Factor = —
minimum actual Load

Answer: C

120 Which instrument is used to test new domestic
wiring installation? | FeiH TR arafT Seefereredt areoft
YUITATST BIUTA 3UBRUT ITRA STd?

A Multimeter | AegtHIeR

B Megger | AR

C Shunt type ohmmeter | 2i¢ UBR 3fHHER

D Series type ohmmeter | {8337 UHR 31HHIR

Answer: B

121 What is the type of test in the wiring installation? |
TR S TAMAHED TRV UbR B 3Te?

A Polarity test | Ydtaar am=roft

B Open circuit test | 31U Afdbe &

C Insulation resistance test between conductors | B3de
SRR 5g1A iR Trroft

D Insulation resistance test between conductors and
earth | bsd? 30T 37ef SIRAT S~GeIR[A Ufd Tt

Answer: D

122 Where system earthing is done? | fa&q 1feT BYS
Pt 5Td?

A Generating station | STRf&T ®2MA

B Electroplating installation | SARITAET ST

C Small industrial installation | &g 30T s~LTeRMA
D Domestic wiring installation | SRT[dt aTafTedt T2moAT

Answer: A

123 What is the test to be carried out by using megger? |

IR d19BA BIvTdt Arvit Bedl STTd?

A Polarity test | YctardT aroit

B Insulation resistance test | 5=ge12[ UfaRe Troft

C Earth electrode resistance test | 312f seia1s Ufaes
EIELI

D Earth conductor continuity test | 372f 3del rdcd
EIEN]

Answer: B

124 What is the reason of lamp glowing dim and motor
running slow in a domestic wiring circuit? | ER'ﬂT:I"Ta'RIIﬁT
fsemed ofw He B1UaT 31fot Hie? He §IvaTd BRUT 61T
3Te?

A Open circuit in the neutral line | gl ¢34 WA 30U
Tfdse

B Short circuit between conductors | d8aeR SIRIM 2IT¢
Tfdbe

C High value series resistance fault | 32 {3 ATfeicp
gfdeR eIy

D Open circuit in the earth conductor | 31 dsdeR 7ed
35T gfhe

Answer: C
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125 Which wiring installation the System earthing is to
be done? | f&&H 3121 BUTeT IRIRIT SRETAAER BRI
3me?

A Substations | GEEART

B Godown wiring | TST3 arafdT

C Domestic wiring | BRIt AT

D Commercial wiring | PRI arIfIT

Answer: A

126 Which method of earth resistance measurement is
illustrated? | 3121 YT~ AIUAT BIvTdt Ugd SRadeit
3Te?

RS 7 Yo

4,

LA,

A Fall of current | WId 3% &

B Fall of potential | BicT 3{T% Tle~Iel

C Current dividing | ®e fSe@Tsst

D Potential dividing | TYe=IeT facgrdain

Answer: B

127 How to control harmonic distortions in neutral

connections as per IE rule? | IE fRAATIAR el BAFRAAED
EMIfA® fdpdt it fAdfAd Hrdt?

A Earthing through impedance | WfdaTengR 31T

B Providing by plate earthing | @i 31f2PTgR WeT &R0

C Increasing conductor size | dTEdl BSdR TBR

D Providing parallel earthing | THIdR 31fepT geT POt
Answer: A

128 What is the function of current reverser in earth
resistance tester? | 3ref e~ e Pie Regda wrf
P HTE?

A Converts A.C. into D.C | A.C ¥ D.C H&& BUicR &al

B Reverses the polarity of D.C | D.C it g[adT 3e1e &3d
C Changes D.C. supply into A.C supply | D.C g¥daT A.C
RAGITHED daerd!

D Reverses the direction of rotation of the generator |

STAeTT A2 feoIm 3eie dwRar

Answer: C

129 What is the advantage of stranded conductor over
solid conductor? | 31T hEaeV&T TS PHede B
IICT 3Te?

A Cost is less | e &Ht 38

B More flexible | 31ftics eafdd

C Less voltage drop | ®H! @leesT 310

D More insulation resistance | 31feid s~ Ufder

Answer: B

130 How the earth resistance can be reduced? | 3rfepr
UfAPR Ha1 HHT dar Ader?

A Providing double earthing | g&<t 31720 YgH @Y

B Reducing the pit depth for earthing | rfepraTat
WIS Wieft BHT BIoT

C Increasing the length of the electrodes | sAdRIsd aTia
qrequl

D Decreasing the length of the electrodes | setagisdl
it BHT B0

Answer: A

131 What is the reason for supplying AC to the
electrodes for measuring earth resistance? | 3fT Ufd®BR
HISTUATATS! SAGEISElT AC JRAUYTA BRUT BT 3HTe?

A Provide electrostatic shield | seiag e e 2ites UG &1
B Protect the coils in the meter | HlexwefteT Bisera TRefoT
Gy

C Reduce the value of current in the meter | Hiezqeiter
faegd JemeTe qeg HHl B

D Avoid the effect of electrolytic emf interference |

SATEIATE(EPh STHUD EXASIUTIT YHTT eT5T

Answer: D
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132 Why the pointer is not stable at zero on the scale as
the megger is not in use? | ATR ATIRTd FHAMT Ulsel
TheTeR [TeR 2R P1 eTd TR

A It is not having controlling Torque | AT gl elch
Tqar

B Provided with air friction damping |E‘2Rfﬁa_cfQFr§ﬁ5T
feaiett s/a

C The deflecting torque is directly proportional to the
current | fSuciafen <ids faed yraTeTeaT e YHTOTd 31m8

D The deflecting torque is directly proportional to the
square of the current | f3uiafen eids faelq yarerean
CHIEIR A LG

Answer: A

133 Which is proportional for the deflection of
ohmmeter needle in earth resistance tester? | 372f
Afaied &R 7ed 3 Hiw Hizet fEuiaeM =1 Bioten
THTTA 3Te?

A Current in current coil | B3¢ BISATED B

B Current in potential coil | GIeRIET BISAHED BT

C Speed of the handle rotation | €3eT A2 7Tdt

D Ratio of the current in two coils | G BigeTHefe fagd
I CIHERIIGN

Answer: D

134 Which principle the earth resistance tester works? |
372 UfdRierds SR BIUTRT delaR BTH BIdTld?

A Self induction | 9¢% S3d2M

B Mutual induction | RI3eT $3dRM

C Fall of potential method | WIeT 3% eIt AYS

D Fleming’s left hand rule | TRfHITIT STear &TaTaN fAa|
Answer: C

135 Why system earthing is different in utilization than
equipment earthing? | f&H 31f2fT & 39epoT 31fePmaar
TS T 31Te?

A It protects human only | 8 Tth AT &0 BId

B It protects from all circuit faults | 8 Id Tfdbe SreuRgT
TREUT BId

C It is associated with current carrying conductors | &
TAAT ITEA AT et Helferd 3me
D It is connected to the non current carrying metal work

| € faE[d YaTe FHeIedT YUTq=AT BHIR( siiseiel 318

Answer: C

136 What is the effect if a person receives a shock
current of 20 mA? | TATET hHIAT 20 mA dT 2[Tdh BIC
fResTeard e &1 aRomH Edl?

A No sensation | Td&AT AT&!

B Painful shock | AGATGR—I® HUddmT

C Heart convulsions | &g 3Tgad

D Become unconscious | §iR[g g0

Answer: B

137 Which electrical equipment L series type MCB’s are
used? | BIUTdT fazld U0t L HifcidT YebR MCB aTuRedt
BIGIGE

A Geysers | TeR

B Locomotives | #lpIAIfeegd

C Halogen lamps | €151 féa

D Air conditioners | B3R &g

Answer: A

138 What is the megger reading in a dead short wiring
installation? | 7a 2ITé aIfT SeieRAAES AR AT B/
3Te?

AOMAQ

B1M Q

C500 M Q

D Infinity | 3Fd

Answer: A

139 What is the advantage of crimping? | fobfenT BrIeT

B 3Te?

A Gives neat apperance | fieied W@HT ca

B Reduce load current | @IS &< BHT TRT

C Avoid loose connections | €31 Pd2I 2Te3T
D Easy to replace | §GeT0l GIU

Answer: C
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